			**VIP Office Furniture &			Staples Advantage			**Corporate Environments of			National Office Systems, Inc.		
			Supply Savannah, <i>GA</i>			Richmond Hill,			Georgia Savannah, GA			Savannah, GA		
ITEM	DESCRIPTION (QTY	UNIT PRICE	MF G	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL
1	Rectangular Desk Shell - Part No. SL6630 DS - 66"w × 30"d × 29.5"h, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1-American Dark	6	\$142,33	All Product Quoted Same as Specified	\$853.98	\$165.00	5L6630DS	\$990.00	\$178.74	Offices To Go	\$1,072.44	\$198.00	Offices To Go	\$1,188.00
2	File/File Pedestal w/Lock - Part No. SL22FF (Fully Assembled) - 22"d x 15"w x 27"h, OTG Laminate Superior Laminate Finishes ADC 1-American Dark Cherry Box/Box/File Pedestal	6	\$154.80		\$928.80	\$180.00	SL22FF	\$1,080.00	\$194.40	Offices To Go	\$1,166.40	\$212,00	Offices To Go	\$1,272,00
3	w/Lock Part No. SL22BBF (Fully Assembled) - 22"d x 15"w x 27"h, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1-American Dark Cherry	6	\$154.80		\$928.80	\$180.00	SL22BBF	\$1,080.00	\$194.40	Offices To Go	\$1,166.40	\$212.00	Offices To Go	\$1,272.00
4	2 Shelf Bookcase Part No. SL48BC - Two Adjustable Shelves - 32"w x 14"d x 48"h, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1- American Dark Cherry	6	\$116.53		\$699.18	\$135.50	SL48BC	\$813.00	\$146.34	Offices To Go	\$878.04	\$168.00	Offices To Go	\$1,008.00
5	Reversible Return Shell - Part No. SL4824R, 48"w × 24'd × 29.5"h, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1-American Dark Cherry	6	\$95,03		\$570,18	\$110.50	SL4824R	\$663.00	\$119.34	Offices To Go	\$716.04	\$144.00	Offices To Go	\$864.00

PURCHASE AND INSTALLTION OF OFFICE FURNITURE FOR PROJECT MANAGEMENT OFFICE

RFQ DUE: MAY 27, 2021 @ 2PM

RFQ 21-0076-7

		r							**C					
		- 1	**VIP Office			Staples			**Corporate			National Office		
			Furniture &			Advantage			Environments of			Systems, Inc.		
		- 1	Supply			Richmond Hill,			Georgia Savannah, GA			Savannah, GA		
ITEM	DESCRIPTION G	-	Savannah, GA UNIT PRICE	MF6	TOTAL	GA UNIT PRICE	MF <i>G</i>	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MF6	TOTAL
TIEW	Black Mesh Back,	ŞΤΥ	UNIT PRICE	Mre	TOTAL	UNIT PRICE	WLA	TOTAL	UNIT PRICE	Mre	TOTAL	UNIT PRICE	WLA	TOTAL
	Black Mesh Seat,	- 1												
	Fixed Arms, 4 Legged	- 1												1
6		6	\$144.05		\$864.30	\$150.75	OTG11512B	\$904.50	\$180.90	Offices To Go	\$1,085.40	\$200.00	Offices To Go	\$1,200.00
	stack, OTG Guest &	- 1												
	Stack - Part No.	- 1												
	OTG11512B	_												
	Black Mesh Back, Black Fabric Seat,													
	Infinite Seat Tilt	- 1												
	Lock w/Tilt Tension	- 1								1				
	Adj., Pneumatic Seat	- 1												
	HT Adj., Height and	- 1												
7	Width Adj. Arms,	6	\$236.50		\$1,419.00	\$247,50	OTG11769B	\$1,485,00	\$297.00	Offices To Go	\$1,782.00	\$307.00	Offices To Go	\$1,842.00
	Back Angle Adj., Back Height Adj., Seat	- 1												
	Slider, Molded Black	- 1												
	Base, Dual Wheel	- 1												
	Carpet Caster, OTG	- 1												
	Mesh - Part No	- 1												
	OTG11769B Rectangular Desk	\dashv												
	Shell - Part No.:	- 1		1										
	SL7130DS - 71"w x						1 1		1					
	30"d × 29.5"h, OTG													
8	Laminate Superior ~	3	\$152.65		\$457.95	\$177.50	SL7130DS	\$532.50	\$191.70	Offices To Go	\$575.10	\$210,00	Offices To Go	\$630.00
	OTGL Superior													
	Laminate Finishes ADC 1-American Dark													
	Cherry												,	
	Flush Bridge - Part													
	No. SL4824FB, 48"w													
	× 24"d × 29.5"h, OTG													
وا	Laminate Superior ~	3	\$76.54		\$229.62	\$89.00	SL4824FB	\$267.00	\$96.12	Offices To Go	\$288,36	\$121.00	Offices To Go	\$363.00
	OTGL Superior		*·		•	, , , , , ,		*******	11.1%	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	,		,,,,,,
	Laminate Finishes ADC 1-American Dark													
	Cherry							Ï						1
						†								
	Credenza Shell - Part No: SL7124C5, 71"w ×													1
	24"d x 29.5"h, OTG													l
	Laminate Superior ~							h 40 ·		000 0	* F2 / 22			4507.00
10	OTGL Superior	3	\$142.33		\$426.99	\$165.50	5L7124C5	\$496.50	\$178.74	Offices To Go	\$536.22	\$199.00	Offices To Go	\$597.00
	Laminate Finishes													
	ADC 1-American Dark													
	Cherry													

PURCHASE AND INSTALLTION OF OFFICE FURNITURE FOR PROJECT MANAGEMENT OFFICE

RFQ DUE: MAY 27, 2021 @ 2PM

RFQ 21-0076-7

		**VIP Office Furniture & Supply Savannah, GA		1.0	Staples Advantage Richmond Hill, <i>GA</i>			**Corporate Environments of Georgia Savannah, GA			National Office Systems, Inc. Savannah, GA		
ITEM	DESCRIPTION QT	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MF6	TOTAL	UNIT PRICE	MF6	TOTAL
11	File/File Pedestal w/Lock - Part No. SL22FF, (Fully Assembled) - 22"d x 15"w x 27"h, OTG Laminate Superior ~ OTGL Superior ~ Caminate Finishes ADC 1-American Dark Cherry	\$154.80		\$464.40	\$180.00	SL22FF	\$540.00	\$194,40	Offices To Go	\$583.20	\$212.00	Offices To Go	\$636,00
12	Box/Box/File Pedestal w/Lock - Part No, SL22BBF (Fully Assembled) - 22"d x 15"w x 27"h, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1- American Dark Cherry	\$154,80		\$464.40	\$180.00	SL22BBF	\$540.00	\$194,40	Offices To Go	\$583,20	\$212.00	Offices To Go	\$636.00
13	Black Mesh Back, Black Mesh Seat, Fixed Arms, 4 Legged Base, Glides, Does not stack, OTG Guest & Stack - Part No. ORG11512B	\$144.05		\$864,30	\$150.75	OT <i>G</i> 11512B	\$904.50	\$180,90	Offices To Go	\$1,085.40	\$200.00	Offices To Go	\$1,200.00
14	Black Mesh Back, Black Fabric Seat, Infinite Seat Tilt Lock w/Tilt Tension Adj., Pneumatic Seat HT Adj., Height and Width Adj., Arms, Back Angle Adj., Back Height Adj., Seat Slider, Molded Black Base, Dual Wheel Carpet Caster, OTG Mesh - Part No. OTG11769B	\$236.50		\$709.50	\$247.50	<i>OTG</i> 11769B	\$742.50	\$297.00	Offices To Go	\$891.00	\$307.00	Offices To Go	\$921.00

RFQ DUE: MAY 27, 2021 @ 2PM

			**VIP Office Furniture & Supply Savannah, GA			Staples Advantage Richmond Hill, GA			**Corporate Environments of Georgia Savannah, GA			National Office Systems, Inc. Savannah, GA		
ITEM	DESCRIPTION (QTY	UNIT PRICE	MF6	TOTAL	UNIT PRICE	MF6	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MF <i>G</i>	TOTAL
15	Mesh Back w/ Black Fabric Seat, Single Position Tilt Lock & Tilt Tension, Pneumatic Seat HT Adj., Height Adj. Arms, High Rise Molded Black Base, Dual Wheel Carpet Casters, OTG Mesh - Part No. OTG11921B	40	\$146.20		\$5,848.00	\$153.00	OTG11921B	\$6,120.00	\$183.60	Offices To Go	\$7,344.00	\$202.00	Offices To Go	\$8,080.00
16	OTG Flip Top Base Only Part No. OTGFTBASE71, 71", Used with SL7124TOP or SL7130TOP, (Black or Tungsten) OTG Laminate Superior Tun 1-Tungsten	20	\$174.58		\$3,491.60	\$203.00	OTGFTBASE 71	\$4,060.00	\$219.24	Offices To Go	\$4,384.80	\$235.00	Offices To Go	\$4,700.00
17	24"d × 71"w × 1"h, Rectangular Top Only- Part No. SL7124TOP, OTG Laminate Superior ~ OTGL Superior Laminate Finishes ADC 1- American Dark Cherry	20	\$70.09		\$1,401.80	\$81,50	SL7124TOP	\$1,630.00	\$88,02	Offices To Go	\$1,760,40	\$114.00	Offices To Go	\$2,280.00
18	8' Conference Table w/ Panel Base - Part No. 910	1	\$775.00		\$775.00	\$749.16	910	\$749.16	\$435.24	Offices To Go	\$435.24	\$1,654.00	Office Source	\$1,654.00

RFQ 21-0076-7 PURCHASE AND INSTALLTION OF OFFICE FURNITURE FOR PROJECT MANAGEMENT OFFICE

RFQ DUE: MAY 27, 2021 @ 2PM

		Fur	IP Office rniture & Supply annah, GA			Staples Advantage Richmond Hill, GA			**Corporate Environments of Georgia Savannah, GA			National Office Systems, Inc. Savannah, GA		
ITEM	DESCRIPTION QT	Y UN	IT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL	UNIT PRICE	MFG	TOTAL
19	AUBURN - Part No. 3767, Leather / Mock Leather, High Back, Tilter, Std. Fixed Arms, Std. Molded Black Base, Std. 2" Integrated Dual Wheel Carpet Casters, Global Seating USA ~ 05 Grade 05 ~ LTRB/Mock Leather/Mock Leather (Global) ~ LM Leather/Mock Leather (Slobal) ~ LM Leather/Mock Leather solov/450 1-Black/Black AL F-Aluminum Frame and Base [ALU] ~ (STD) Molded Black Base or Aluminum Base Only if Aluminum Frame Selected _ [BLK] ~ (STD) 4" Low Rise Cylinder C10 C- (STD) Black, 2" Integrated Dual Wheel Caster ~ (STD)	4	5761 <u>.4</u> 6		\$761.46	\$747.38	3767	\$747.38	\$839,16	Global	\$839.16	\$1,000.00	Giobal	\$1,000.00
	Delivery Days				7-10 Days (Line 19 ETA is 4 Weeks)			21-28 Days			21 Days			20 Days
1	TOTAL BID	1 5	7	3	\$22,159.26	A COLUMN		\$24,345.04	ALS TELL		\$27,172.80			\$31,343.00

*MBE **WBE	(din)	Marian	
Procurement Specialist:	CKCCCITT	chaile)	